(1) EL=hI/ETRMAINER
7K A s +
L 1 2 = »43
=5 s OIS =
cBFHET— A
s SBI LR
=2
4 5 6 7 8 9 10
EHFEI | - ERENE cBEEBON| « N)LV—D |« AZDE(R
(247 OREIREH EDORE~22 |7— 59 D=
- Z1E = - B3F0E
59 11157
HRINEER
MIE
11 12 13 14 15 16 17
Z2EEE |IRENB c 6FEHOD |- BEOD S o)L |- OIENS
= NESESR F— cAFERXDTZ
(OVIREIK BIIWADE
M) o I73U-A =Y
=7
18 19 20 21 22 23 24
s REZDE | - BESEHO |- N)LYV—D XE23%EB
1= 13:30~ F— =t1loH
s FHZED |1415
8 o SBHERSAE
®
14.35~
15:20
s FHZED
=|
25 26 27 28 29
- Z4058 |- =487 |- 248F 3=¢1N
1315F 1315F 13167 | - MFanE
7N g —
- Z482
13 15"
U122
5‘_‘_
| SADELITEFE 1 FRENE
138 ()44 HE11:40 T8 HwEE 4, 400M
18 (A)ET R 454 B5F11:40 T# +IRE FEHH 22H
198 () 8BF &4 - 8:30 T 4% 4, 422H
208 (JK) ~F KR H AOFEDESHEREHEVLWN-LE
ER
I I







